## Bid #BLD2123798B1 - Fencing - New, Repair and Replacement Services

Creation Date	Mar 15, 2022	End Date <b>Jun 15</b> ,	2022 2:00:00 PI	M EDT
Start Date	May 13, 2022 12:15:38 PM EDT	Awarded Date <b>Not Yei</b>	Awarded	
Bauer Fence C	Construction Corporation		\$3,6	21,965.70 (73/73 items)
	<b>Steve Bauer dhuntersbauer@aol.com Ph 954-760-9644</b> VC0000115321		812 ne 22nd te t Lauderdale, F	
Qualifications	SB	T		
Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
BLD2123798B1- -01-01	10ft High Fencing (Pave Area) - First Offer	\$43.00	2599 / linear foot	\$111,757.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s).: 20%		
BLD2123798B1- -01-02	End Post with Single Brace for 10ft High Fence - First Offer		69 / each	\$32,430.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price att	ributed to labor portion of
BLD2123798B1- -01-03	Corner Post with Double Brace for 10ft High Fence - First Offer		37 / each	\$19,240.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price att	ributed to labor portion of
BLD2123798B1- -01-04	8ft High Fence - First Offer	\$41.00	9168 / linear foot	\$375,888.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price att	ributed to labor portion of
BLD2123798B1- -01-05	End Post with Single Brace for 8ft High Fence - First Offer		60 / each	\$24,000.00
Product Code: Agency Notes:	1	Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price att	ributed to labor portion of
BLD2123798B1- -01-06	Corner Post with Double Brace for 8ft High Fence - First Offer		60 / each	\$25,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price att	ributed to labor portion of
BLD2123798B1- -01-07	6ft High Fencing - First Offer	\$37.00	8008 / linear foot	\$296,296.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price att	ributed to labor portion of
BLD2123798B1- -01-08	End post with Single Brace for 6ft High Fence - First Offer		85 / each	\$27,200.00
Product Code:		Supplier Product Code:	1	

## Broward County Board of

BLD2123798B1 -	Broward Count	5		
ng - New, Repair Agency Notes:	and County Comr		age of price att	Page 2 of 2 ributed to labor portion of
BLD2123798B1- -01-09	Corner post with Double Brace for 6ft High Fence - First Offer	.,	51 / each	\$18,870.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price attr	ributed to labor portion of
BLD2123798B1- -01-10	8ft High Cantiliver Sliding Gate - First Offer	\$198.00	171 / linear foot	\$33,858.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price att	ributed to labor portion of
BLD2123798B1- -01-11	8ft High Double Swing Gate - First Offer	\$150.00	125 / linear foot	\$18,750.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price att	ributed to labor portion of
BLD2123798B1- -01-12	6ft High Double Swing Gate - First Offer	\$115.00	478 / linear foot	\$54,970.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price att	ributed to labor portion of
BLD2123798B1- -01-13	4ft Wide x 8ft High Personnel Gate - First Offer	\$1,200.00	14 / each	\$16,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price att	ributed to labor portion of
BLD2123798B1- -01-14	Vinyl Coating of Fence Fabric Dark Green - First Offer	\$5.00	4830 / square foot	\$24,150.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 0%	age of price att	ributed to labor portion of
BLD2123798B1- -01-15	Vinyl Coating of Fence Fabric Navy Blue - First Offer	\$6.00	1100 / square foot	\$6,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 0%		ributed to labor portion of
BLD2123798B1- -01-16	Relocation of Existing 8ft High Fence - First Offer	\$25.00	88 / linear foot	\$2,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 30%	age of price att	ributed to labor portion of
BLD2123798B1- -01-17	Removal and Disposal of Existing Fence - First Offer	\$5.00	14253 / linear foot	\$71,265.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 80%	age of price att	ributed to labor portion of
BLD2123798B1- -01-18	Removal and Disposal of 4ft Pedestrian Gate - First Offer	\$160.00	17 / each	\$2,720.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 80%	age of price att	ributed to labor portion of
BLD2123798B1- -01-19	Removal and Disposal of 14ft Swing Gate - First Offer	\$260.00	49 / each	\$12,740.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent	age of price att	ributed to labor portion of

ing - New, Repair	and County Comr	nissioners		Page 3 of 2
		service(s).: 80%		
BLD2123798B1- -01-20	Removal and Disposal of 28ft Slide Gate - First Offer	\$300.00	18 / each	\$5,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 80%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-21	Labor Crew for Miscellaneous Field Fencing and Gate Repair - First Offer		4951 / hour	\$915,935.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 100%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-22	- Miscellaneous Welding Repairs including Consumables First Offer	\$220.00	105 / hour	\$23,100.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 75%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-23	Relocating 4ft Pedestrian Gate (including New Gate Posts) - First Offer		3 / each	\$2,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-24	4ft High Fencing - First Offer	\$31.00	810 / linear foot	\$25,110.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-25	End post for 4ft High Fencing - First Offer	\$230.00	30 / each	\$6,900.00
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-26	Corner Post for 4ft High Fencing - First Offer	\$270.00	55 / each	\$14,850.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-27	4ft x 4ft Pedestrian Gate - First Offer	\$860.00	25 / each	\$21,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-28	4ft Cantilever Sliding Gate - First Offer	\$105.00	60 / linear foot	\$6,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-29	4ft Double Swing Gate - First Offer	\$96.00	60 / linear foot	\$5,760.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-30	4ft x 7ft Panic Gate - First Offer	\$6,500.00	7 / each	\$45,500.00
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price a	ttributed to labor portion of

BLD2123798B1 - ng - New, Repair	and Broward Coun County Comr			Exhib Page 4 of
BLD2123798B1- -01-31	Relocating 14ft Swing Gate (including New Gate Posts) - First Offer	\$2,100.00	2 / each	\$4,200.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 50%		
BLD2123798B1- -01-32	Relocating 28ft Slide Gate (including New Gate Posts) - First Offer	\$2,600.00	3 / each	\$7,800.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 50%		
BLD2123798B1- -01-33	PVC tubular Dark Green Slats - First Offer	\$6.00	386 / square foot	\$2,316.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 30%	age of price a	ttributed to labor portion o
BLD2123798B1- -01-34	Single 8ft High Swing Gate (15ft to 20ft) - First Offer	\$142.00	25 / linear foot	\$3,550.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 10%		
BLD2123798B1- -01-35	Single 8ft High Swing Gate (20ft to 32ft) - First Offer	\$142.00	72 / linear foot	\$10,224.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion service(s).: 10%		
BLD2123798B1- -01-36	Top Rail Replacement - First Offer	\$15.00	70 / linear foot	\$1,050.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s).: 10%		
BLD2123798B1- -01-37	Sea Fan - A, 8ft High - First Offer	\$1,300.00	22 / each	\$28,600.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price a	ttributed to labor portion o
BLD2123798B1- -01-38	Sea Fan - B, 8ft High - First Offer	\$1,000.00	3 / each	\$3,000.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price a	ttributed to labor portion o
BLD2123798B1- -01-39	Replacement Barbed Wire and Barbed Wire Arms - First Offer	\$7.50	3292 / linear foot	\$24,690.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 30%	age of price a	ttributed to labor portion o
BLD2123798B1- -01-40	Replacement Line Posts 8ft High - First Offer	\$120.00	7 / each	\$840.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price a	ttributed to labor portion o
BLD2123798B1- -01-41	Bollards (5ft-0in Above Existing Grade) - First Offer	\$900.00	30 / each	\$27,000.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price a	ittributed to labor portion o
BLD2123798B1-	Removal of Existing Bollards (0 ft-1in to 10ft-0 in) - First		8 / each	\$1,200.0

BLD2123798B1 - ing - New, Repair a	nd Broward Coun		Exhi Page 5 d
-01-42	Offer		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 80%	age of price attributed to labor portion
BLD2123798B1- -01-43	Center Rail Replacement - First Offer	\$10.00	1653 / \$16,530 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 30%	age of price attributed to labor portion
BLD2123798B1- -01-44	Bottom Rail Replacement - First Offer	\$10.10	2187 / \$22,088 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 35%	age of price attributed to labor portion
BLD2123798B1- -01-45	Line Posts 10ft High - First Offer	\$150.00	42 / each \$6,300
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price attributed to labor portion
BLD2123798B1- -01-46	10ft High Cantiliver Sliding Gate - First Offer	\$250.00	207 / linear \$51,750 foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price attributed to labor portion
BLD2123798B1- -01-47	10ft High Double Swing Gate - First Offer	\$152.00	202 / linear \$30,704 foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price attributed to labor portion
BLD2123798B1- -01-48	10ft x 4ft High Personnel Gate - First Offer	\$1,500.00	42 / each \$63,000
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price attributed to labor portion
BLD2123798B1- -01-49	Single 10ft High Single Swing Gate (15ft to 20ft) - First Offer	\$220.00	49 / linear \$10,780 foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price attributed to labor portion
BLD2123798B1- -01-50	10ft High K-Brace Gate (20ft to 32ft) - First Offer	\$270.00	25 / linear \$6,750 foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price attributed to labor portion
BLD2123798B1- -01-51	Relocation of Existing 10ft High Fence - First Offer	\$30.00	20 / linear \$600 foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 30%	age of price attributed to labor portion
BLD2123798B1- -01-52	10ft High Fencing Non-Paved Areas - First Offer	\$46.00	1325 / \$60,950 linear foot
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price attributed to labor portion
BLD2123798B1- -01-53	Vinyl Coating of Fence Fabric Black - First Offer	\$4.00	50366 / \$201,464 square foot

ing - New, Repair	and County Com	missioners		Page 6 of 2
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 0%	age of price attrib	outed to labor portion of
BLD2123798B1- -01-54	10ft High Fencing Ornmental Steel - First Offer	\$360.00	30 / linear foot	\$10,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price attrib	outed to labor portion of
BLD2123798B1- -01-55	4in Gate Post up to 10ft High Fence - First Offer	\$600.00	37 / each	\$22,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price attrib	outed to labor portion of
BLD2123798B1- -01-56	6-5/8in Gate Post up to 10ft High Fence - First Offer	\$740.00	31 / each	\$22,940.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price attrib	outed to labor portion of
BLD2123798B1- -01-57	6-5/8in K Brace Gate Post up to 21ft High - First Offer	\$840.00	16 / each	\$13,440.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price attrib	outed to labor portion of
BLD2123798B1- -01-58	8-5/8in Gate Post up to 10ft High Fence - First Offer	\$1,040.00	9 / each	\$9,360.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price attrib	outed to labor portion of
BLD2123798B1- -01-59	8-5/8in K Brace Gate Post up to 21ft High - First Offer	\$1,300.00	7 / each	\$9,100.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price attrib	outed to labor portion of
BLD2123798B1- -01-60	6ft High Cantilever Gate - First Offer	\$160.00	95 / linear foot	\$15,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price attrib	outed to labor portion of
BLD2123798B1- -01-61	6ft x 4ft High Personnel Gate - First Offer	\$1,200.00	23 / each	\$27,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price attrib	outed to labor portion of
BLD2123798B1- -01-62	6ft High Sliding Gate - First Offer	\$110.00	39 / linear foot	\$4,290.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price attrib	outed to labor portion of
BLD2123798B1- -01-63	Liftmaster SL-585 1HP Slide Gate Operators - First Offer	\$6,000.00	9 / each	\$54,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 0%	age of price attrib	outed to labor portion of
BLD2123798B1- -01-64	Liftmaster plug-in Loop Detectors - First Offer		23 / each	\$11,500.00
Product Code:		Supplier Product Code:	<u> </u>	

bid #BLD2123798B1 -	
Fencing - New, Repair and	

## Broward County Board of

BLD2123798B1 - sing - New, Repair	and Broward Cour County Com			
Agency Notes:		1	age of price a	Page 7 of 2 ttributed to labor portion of
BLD2123798B1- -01-65	Viking H-10 1HP Slide Gate Operators - First Offer	\$6,300.00	16 / each	\$100,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 0%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-66	Ditek DTK-120 Surge Protectors - First Offer	\$210.00	21 / each	\$4,410.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 0	age of price a	ttributed to labor portion of
BLD2123798B1- -01-67	Saw Cut Loop Installations - First Offer	\$1,000.00	28 / each	\$28,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 0%		
BLD2123798B1- -01-68	Operator Pads - Supply and Install - First Offer	\$950.00	18 / each	\$17,100.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-69	Operator Pads - Removal of existing pads - First Offer	\$600.00	7 / each	\$4,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 80%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-70	6ft Centurion Aluminum 3 Rail - First Offer	\$124.00	220 / linear foot	\$27,280.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-71	6ft Centurion Steel Rail - First Offer	\$110.00	2237 / linear foot	\$246,070.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-72	- Wood Fencing 4 in x 6 in x 6 ft Post No. 2 Southern Pine First Offer	\$18.00	5000 / each	\$90,000.00
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes: Percent service(s).: 30%	age of price a	ttributed to labor portion of
BLD2123798B1- -01-73	Wood Fencing 2 in x 6 in Rails - First Offer	\$14.00	5000 / each	\$70,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 30%	age of price a	ttributed to labor portion of
Bid Allowance				\$85,000.00

Coast To Coast Garage Door

\$5,819,454.00 (73/73 items)

 Bid Contact
 Jerome Payne

 c2cgaragedoor@live.com
 Ph 954-653-1600

 Fax 954-840-9257
 Fax 954-840-9257

Address 10501 NW 50th Street ste 106 Sunrise, FL 33351 Qualifications CBE SB SBE

Agency Notes:		Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
BLD2123798B1- -01-01	10ft High Fencing (Pave Area) - First Offer	\$110.00	2599 / linear foot	\$285,890.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 55	age of price att	ributed to labor portion of
BLD2123798B1- -01-02	End Post with Single Brace for 10ft High Fence - First Offer	\$450.00	69 / each	\$31,050.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 200	age of price att	ributed to labor portion of
BLD2123798B1- -01-03	- Corner Post with Double Brace for 10ft High Fence First Offer	\$550.00	37 / each	\$20,350.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 275	age of price att	ributed to labor portion of
BLD2123798B1- -01-04	8ft High Fence - First Offer	\$95.00	9168 / linear foot	\$870,960.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 48	age of price att	ributed to labor portion of
BLD2123798B1- -01-05	End Post with Single Brace for 8ft High Fence - First Offer	\$400.00	60 / each	\$24,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 200	age of price att	ributed to labor portion of
BLD2123798B1- -01-06	Corner Post with Double Brace for 8ft High Fence - First Offer	\$500.00	60 / each	\$30,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion service(s).: 250		
BLD2123798B1- -01-07	6ft High Fencing - First Offer	\$72.00	8008 / linear foot	\$576,576.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 31	age of price att	ributed to labor portion of
BLD2123798B1- -01-08	End post with Single Brace for 6ft High Fence - First Offer	\$350.00	85 / each	\$29,750.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 180	age of price att	ributed to labor portion of
BLD2123798B1- -01-09	Corner post with Double Brace for 6ft High Fence - First Offer	\$400.00	51 / each	\$20,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 200	age of price att	ributed to labor portion of
BLD2123798B1- -01-10	8ft High Cantiliver Sliding Gate - First Offer	\$225.00	171 / linear foot	\$38,475.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 100	age of price att	ributed to labor portion of
BLD2123798B1- -01-11	8ft High Double Swing Gate - First Offer	\$225.00	125 / linear foot	\$28,125.00

ing - New, Repair	and County Com	missioners		Page 9 of 2
Product Code:		Supplier Product Code:		
Agency Notes:			age of price at	tributed to labor portion of
BLD2123798B1- -01-12	6ft High Double Swing Gate - First Offer	\$200.00	478 / linear foot	\$95,600.00
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes: Percent service(s).: 100	age of price at	tributed to labor portion of
BLD2123798B1- -01-13	4ft Wide x 8ft High Personnel Gate - First Offer	\$1,390.00	14 / each	\$19,460.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 635	age of price at	tributed to labor portion of
BLD2123798B1- -01-14	Vinyl Coating of Fence Fabric Dark Green - First Offer	\$2.00	4830 / square foot	\$9,660.00
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes: Percent service(s).: .75	age of price at	tributed to labor portion of
BLD2123798B1- -01-15	Vinyl Coating of Fence Fabric Navy Blue - First Offer	\$3.00	1100 / square foot	\$3,300.00
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes: Percent service(s).: 1	age of price at	tributed to labor portion of
BLD2123798B1- -01-16	Relocation of Existing 8ft High Fence - First Offer	\$30.00	88 / linear foot	\$2,640.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 30	age of price at	tributed to labor portion of
BLD2123798B1- -01-17	Removal and Disposal of Existing Fence - First Offer	\$15.00	14253 / linear foot	\$213,795.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 15	age of price at	tributed to labor portion of
BLD2123798B1- -01-18	Removal and Disposal of 4ft Pedestrian Gate - First Offer		17 / each	\$2,125.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 125	age of price at	tributed to labor portion of
BLD2123798B1- -01-19	Removal and Disposal of 14ft Swing Gate - First Offer	\$550.00	49 / each	\$26,950.00
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes: Percent service(s).: 550	age of price at	tributed to labor portion of
BLD2123798B1- -01-20	Removal and Disposal of 28ft Slide Gate - First Offer	\$750.00	18 / each	\$13,500.00
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes: Percent service(s).: 750	age of price at	tributed to labor portion of
BLD2123798B1- -01-21	Labor Crew for Miscellaneous Field Fencing and Gate Repair - First Offer		4951 / hour	\$841,670.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 170	age of price at	tributed to labor portion of
BLD2123798B1- -01-22	- Miscellaneous Welding Repairs including Consumables First Offer	\$170.00	105 / hour	\$17,850.00
Product Code:	·	Supplier Product Code:		

bid #BLD2123798B1 Fend

## Broward County Board of

#BLD2123798B1 -	Broward Court			Exhibit
cing - New, Repair ai	nd County Comr		ago of prico at	Page 10 of 2 tributed to labor portion of
Agency Notes:		service(s).: 170	age of price at	
BLD2123798B1- -01-23	Relocating 4ft Pedestrian Gate (including New Gate Posts) - First Offer	\$1,000.00	3 / each	\$3,000.00
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes: Percent service(s).: 700	age of price at	tributed to labor portion of
BLD2123798B1- -01-24	4ft High Fencing - First Offer	\$60.00	810 / linear foot	\$48,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 30	age of price at	tributed to labor portion of
BLD2123798B1- -01-25	End post for 4ft High Fencing - First Offer	\$250.00	30 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 125	age of price at	tributed to labor portion of
BLD2123798B1- -01-26	Corner Post for 4ft High Fencing - First Offer	\$300.00	55 / each	\$16,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 150	age of price at	tributed to labor portion of
BLD2123798B1- -01-27	4ft x 4ft Pedestrian Gate - First Offer	\$500.00	25 / each	\$12,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 200	age of price at	tributed to labor portion of
BLD2123798B1- -01-28	4ft Cantilever Sliding Gate - First Offer	\$200.00	60 / linear foot	\$12,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 100	age of price at	tributed to labor portion of
BLD2123798B1- -01-29	4ft Double Swing Gate - First Offer	\$220.00	60 / linear foot	\$13,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 100	age of price at	tributed to labor portion of
BLD2123798B1- -01-30	4ft x 7ft Panic Gate - First Offer	\$2,300.00	7 / each	\$16,100.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 700	age of price at	tributed to labor portion of
BLD2123798B1- -01-31	- Relocating 14ft Swing Gate (including New Gate Posts) First Offer	\$1,000.00	2 / each	\$2,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 500	age of price at	tributed to labor portion of
BLD2123798B1- -01-32	Relocating 28ft Slide Gate (including New Gate Posts) - First Offer	\$3,200.00	3 / each	\$9,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 1200	age of price at	tributed to labor portion of
BLD2123798B1- -01-33	PVC tubular Dark Green Slats - First Offer	\$5.00	386 / square foot	\$1,930.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent	age of price at	tributed to labor portion of

<b>J</b> , 1	- <b>,</b> -			Tage TTOL2
BLD2123798B1-	Single 8ft High Swing Gate (15ft to 20ft) - First Offer	<b>service(s)</b> .: 2 \$220.00	25 / linear	\$5,500.00
-01-34		\$220.00	foot	\$5,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 100	age of price a	ttributed to labor portion of
BLD2123798B1- -01-35	Single 8ft High Swing Gate (20ft to 32ft) - First Offer	\$250.00	72 / linear foot	\$18,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 120	age of price a	ttributed to labor portion of
BLD2123798B1- -01-36	Top Rail Replacement - First Offer	\$10.00	70 / linear foot	\$700.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 5	age of price a	ttributed to labor portion of
BLD2123798B1- -01-37	Sea Fan - A, 8ft High - First Offer	\$1,250.00	22 / each	\$27,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 500	age of price a	ttributed to labor portion of
BLD2123798B1- -01-38	Sea Fan - B, 8ft High - First Offer	\$1,400.00	3 / each	\$4,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 600	age of price a	ttributed to labor portion of
BLD2123798B1- -01-39	Replacement Barbed Wire and Barbed Wire Arms - First Offer	\$6.00	3292 / linear foot	\$19,752.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 2.5	age of price a	ttributed to labor portion of
BLD2123798B1- -01-40	Replacement Line Posts 8ft High - First Offer	\$300.00	7 / each	\$2,100.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 150	age of price a	ttributed to labor portion of
BLD2123798B1- -01-41	Bollards (5ft-0in Above Existing Grade) - First Offer	\$1,500.00	30 / each	\$45,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 700	age of price a	ttributed to labor portion of
BLD2123798B1- -01-42	Removal of Existing Bollards (0 ft-1in to 10ft-0 in) - First Offer	\$700.00	8 / each	\$5,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 500	age of price a	ttributed to labor portion of
BLD2123798B1- -01-43	Center Rail Replacement - First Offer	\$8.00	1653 / linear foot	\$13,224.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 3	age of price a	ttributed to labor portion of
BLD2123798B1- -01-44	Bottom Rail Replacement - First Offer	\$9.00	2187 / linear foot	\$19,683.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent	1	ttributed to labor portion of

BL D212379881- O1-45 Troduct Code: tagency Notes: BL D212379881- 10ft High Cantiliver Sliding Gate - First Offer Supplier Product Code: Supplier Product Code: Suppli	BL0212379881- 01-45 01-45 01-46 01-47 01-48 01-49 01-48 01-49 01-48 01-49 01-48 01-49	3LD2123798B1 - ng - New, Repair a	and Broward County Comr			Exhib Page 12 of
Signify Notes:         Supplier Notes: Percentage of price attributed to labor portion of service(s): 200 / linear (not ser	Signing Notes:         Supplier Notes: Percentage of price attributed to labor portion of service(s): 200 / 1/near         Stable of price attributed to labor portion of service(s): 100 / 1/near           BLD212379981         10ft High Cantiliver Siding Gate - First Offer         Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of revice(s): 100 / 1/0 /	BLD2123798B1- -01-45	Line Posts 10ft High - First Offer	\$400.00	42 / each	
BLD212379881- 10f High Cantilver Silding Gate - First Offer BLD212379881- 10ft High Cantilver Silding Gate - First Offer BLD212379881- 10ft High Double Swing Gate - First Offer BLD212379881- 10ft High Double Swing Gate - First Offer BLD212379881- 10ft High Single Swing Gate - First Offer BLD212379881- 10ft High Single Swing Gate (15ft 020)- First Offer BLD212379881- 10ft High K-Brace Gate (20ft 032ft) - First Offer Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(5): 175 BLD212379881- 10ft High K-Brace Gate (20ft 032ft) - First Offer Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(5): 175 BLD212379881- 10ft High K-Brace Gate (20ft 032ft) - First Offer Supplier Notes: Percentage of price attributed to labor portion of service(5): 175 BLD212379881- 10ft High Fencing Non-Paved Areas - First Offer Supplier Notes: Percentage of price attributed to labor portion of service(5): 175 BLD212379881- 10ft High Fencing Non-Paved Areas - First Offer Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(5): 25 BLD212379881- 10ft High Fencing Non-Paved Areas - First Offer BLD212379881- 10ft High Fencing Ommental Steel - First Offer BLD212379881- 10ft High Fencing Ommental Steel - First Offer Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(5): 25 Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of Supplier Notes: Percentag	Suppler Notes: Percentage of price attributed to labor portion of service(s): 230 Suppler Notes: Percentage of price attributed to labor portion of service(s): 150 Suppler Notes: Percentage of price attributed to labor portion of service(s): 230 Suppler Notes: Percentage of price attributed to labor portion of service(s): 230 Suppler Notes: Percentage of price attributed to labor portion of service(s): 230 Suppler Notes: Percentage of price attributed to labor portion of service(s): 230 Suppler Notes: Percentage of price attributed to labor portion of service(s): 230 Suppler Notes: Percentage of price attributed to labor portion of service(s): 230 Suppler Notes: Percentage of price attributed to labor portion of service(s): 230 Suppler Notes: Percentage of price attributed to labor portion of service(s): 230 Suppler Notes: Percentage of price attributed to labor portion of service(s): 230 Suppler Notes: Percentage of price attributed to labor portion of service(s): 230 Suppler Notes: Percentage of price attributed to labor portion of service(s): 230 Suppler Notes: Percentage of price attributed to labor portion of service(s): 175 Suppler Notes: Percentage of price attributed to labor portion of service(s): 175 Suppler Notes: Percentage of price attributed to labor portion of service(s): 175 Suppler Notes: Percentage of price attributed to labor portion of service(s): 175 Suppler Notes: Percentage of price attributed to labor portion of service(s): 175 Suppler Notes: Percentage of price attributed to labor portion of service(s): 175 Suppler Notes: Percentage of price attributed to labor portion of service(s): 175 Suppler Notes: Percentage of price attributed to labor portion of service(s): 175 Suppler Notes: Percentage of price attributed to labor portion of service(s): 175 Suppler Notes: Percentage of price attributed to labor portion of service(s): 175 Suppler Notes: Percentage of price attributed to labor portion of service(s): 175 Suppler Notes: Percentage of price attributed to labor	Product Code:		Supplier Product Code:	· ·	
BL212379811       10ft High Cantiliver Siding Gate - First Offer food       207 / Inear food       542,000.0 food         BL212379811       10ft High Double Swing Gate - First Offer service(3)	BL0212379881- 01-46       10ft High Cantiliver Siding Gate - First Offer service(3): 215       207 / Inear foot       \$4200.0         BL0212379881- 01-47       10ft High Double Swing Gate - First Offer service(3): 215       \$202 / Inear service(3): 205       \$90.900.0         BL0212379881- 01-47       10ft High Double Swing Gate - First Offer service(3): 205       \$202 / Inear service(3): 205       \$90.900.0         BL0212379881- 01-48       10ft x 4ft High Personnel Gate - First Offer service(3): 205       \$127 each service(3): 205       \$127 each service(3): 205       \$127 each service(3): 205         BL0212379881- 01-48       10ft High Single Swing Gate (15ft to 20ft) - First Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(5): 175       \$125 / Inear foot       \$130.00       \$125 / Inear foot <td< td=""><td>Agency Notes:</td><td></td><td>••</td><td>age of price attribu</td><td>ited to labor portion o</td></td<>	Agency Notes:		••	age of price attribu	ited to labor portion o
11-46   or   for t Product Code: Supplier Notes: Percent Jee of price attributed to labor portion of service(s): 150 202 / linear 1007 High Double Swing Gate - First Offer Supplier Notes: Percent Jee of price attributed to labor portion of service(s): 200 42 / each 42 / each 457,500.0 10-42 / each 477,500.0 10-42 / each 477,500.0 10-43 1007 v4ft High Personnel Gate - First Offer Supplier Notes: Percent Jee of price attributed to labor portion of service(s): 200 42 / each 42 / each 475,500.0 10-43 1007 v4ft High Single Swing Gate (15ft to 20ft) - First Ordet Code: Supplier Notes: Percent Jee of price attributed to labor portion of service(s): 200 49 / linear 10-40 troduct Code: Supplier Notes: Percent Jee of price attributed to labor portion of service(s): 200 49 / linear 10-40 froduct Code: Supplier Notes: Percent Jee of price attributed to labor portion of service(s): 200 49 / linear 10-50 10	01-46     ion       irroduct Code: supplier Notes: Percent: ge of price attributed to labor portion of service(s): 150     202 / linear     \$90,000.00       01-47     \$450.00     202 / linear     \$90,000.00       01-47     \$450.00     202 / linear     \$90,000.00       01-47     \$450.00     202 / linear     \$90,000.00       01-48     Supplier Notes: Percent: ge of price attributed to labor portion of service(s): 200     42 / each     \$90,000.00       01-48     Supplier Notes: Percent: ge of price attributed to labor portion of service(s): 200     42 / each     \$75,600.00       01-48     Supplier Notes: Percent: ge of price attributed to labor portion of service(s): 200     49 / linear     \$20,022.00       01-48     Single 10ft High Single Swing Gate (15ft to 20ft) - First Officer     \$425.00     49 / linear     \$20,022.00       01-49     Single 10ft High K-Brace Gate (20ft to 22ft) - First Officer     \$425.00     25 / linear     \$20,020.00       01-50     Supplier Product Code: Supplier Notes: Percent: ge of price attributed to labor portion of service(s): 175     \$21 / linear     \$80,00.00       01-50     Supplier Notes: Percent: ge of price attributed to labor portion of service(s): 175     \$21 / linear     \$80,00.00       01-50     Supplier Notes: Percent: ge of price attributed to labor portion of service(s): 175     \$100.00     \$21 / linear     \$80,00.00       01-			service(s).: 200		
spence Notes:       Supplier Notes: Percentage of price attributed to labor portion of service(s): 150       202 / linear       S90,000,000,000,000,000,000,000,000,000,	Supplier Notes: Percentage of price attributed to labor portion of service(s): 150       Control of price attributed to labor portion of service(s): 150         BLD2123798B1       10ft High Double Swing Gate - First Offer fordut Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 200       202 / linear fordut Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 200         BLD2123798B1       10ft x 4ft High Personnel Gate - First Offer fordut Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 200       42 / each       \$75.600.0         BLD2123798B1       Single 10ft High Single Swing Gate (15ft to 20ft) - First Offer fordut Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 200       49 / linear fordot to 200       50 / linear fordot fordet forde	BLD2123798B1- -01-46	10ft High Cantiliver Sliding Gate - First Offer	\$400.00		\$82,800.0
spence Notes:       Supplier Notes: Percentage of price attributed to labor portion of service(s): 150       202 / linear       S90,000,000,000,000,000,000,000,000,000,	Supplier Notes: Percentage of price attributed to labor portion of service(s): 150       Control of price attributed to labor portion of service(s): 150         BLD2123798B1       10ft High Double Swing Gate - First Offer fordut Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 200       202 / linear fordut Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 200         BLD2123798B1       10ft x 4ft High Personnel Gate - First Offer fordut Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 200       42 / each       \$75.600.0         BLD2123798B1       Single 10ft High Single Swing Gate (15ft to 20ft) - First Offer fordut Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 200       49 / linear fordot to 200       60.7         BLD2123798B1       Single 10ft High K-Brace Gate (20ft to 32ft) - First Offer fordut Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       29 / linear fordut Solo foot       29 / linear foot foot foot foot foot foot foot foo	Product Code:		Supplier Product Code	1	
BLD 21 237981- 1 0ft High Double Swing Gate - First Offer 1 07 0 42 0 42	BLD 212379881- 01-72 01-7 01-72 01-7 01-7 01-7 01-7 01-7 01-7 01-7 01-7				age of price attribu	ited to labor portion o
BLD2123798B1       10ft High Double Swing Gate - First Offer       5450.00       202 / Inear (not service(s)); 200         Orduct Code: service(s); 200       Supplier Product Code: service(s); 200       Supplier Product Code: service(s); 200         BLD2123798B1       10ft x 4ft High Personnel Gate - First Offer       \$1,800.00       42 / each       \$75,600.00         Orduct Code: service(s); 200       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175         BLD2123798B1       10ft High K-Brace Gate (20ft to 32ft) - First Offer       \$10000       25 / linear       \$8,750.00         Offer       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       \$1000.00       20 / linear       \$8,000.00         Offer       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 25       \$1000.00       20 / linear       \$8,000.00         Offer       Supplier Notes: Percentage of price attributed to labor portion of	BLD2123798B1-       10ft High Double Swing Gate - First Offer       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 200         BLD2123798B1-       10ft x 4ft High Personnel Gate - First Offer       \$upplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 200       \$upplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175         BLD2123798B1-       10ft High K-Brace Gate (20ft to 32ft) - First Offer       \$150:00       25 / linear foot       \$8,750         Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       \$100:00       20 / linear       \$8,000         BLD2123798B1-       10ft High K-Brace Gate (20ft to 32ft) - First Offer       \$100:00       20 / linear       \$8,000         Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       \$100:00       20 / linear       \$200:00         Supplier Notes: Percentage of price attributed to labor portion of service				0	
induct Code:       Supplier Product Code:         service(s):: 200       Supplier Notes: Percentage of price attributed to labor portion of service(s):: 200         BLD212279881-       10ft x 4ft High Personnel Gate - First Offer       \$1,800.00       42 / each       \$75,600.0         On-48       Supplier Product Code:       Supplier Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion of service(s):: 800         BLD212379881-       Single 10ft High Single Swing Gate (15ft to 201) - First Offer       Supplier Product Code:       Supplier Product Code:         Supplier Notes:       Supplier Product Code:       Supplier Product Code:       Supplier Product Code:         Supplier Notes:       Supplier Product Code:       Supplier Product Code:       Supplier Product Code:         Supplier Notes:       Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       \$40.00       20 / linear       \$80.00         Offer       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion of service(s): 25       \$100.00       20 / linear       \$80.00         BLD212279881-       10ft High Fencing Non-Paved Areas - First Offer       \$100.00       1325 / linear foot       \$132.500.0         Supplier Notes:       Supplier Notes: Percentage of price attributed to labor portion of service(s): 25       \$100.00       132	Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(5): 200       27 each       \$75,600.0         BLD2123798B1- 01-48       10ft x 4ft High Personnel Gate - First Offer       \$1,800.00       42 / each       \$75,600.0         Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(5): 800       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(5): 175       \$425.00       49 / linear       \$20,825.0         BLD2123798B1- 01-49       Single 10ft High Single Swing Gate (15ft to 20ft) - First Offer       \$100       25 / linear       \$20,825.0         Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(5): 175       25 / linear       \$8,750.0         BLD2123798B1- 01-50       10ft High K-Brace Gate (20ft to 32ft) - First Offer       \$100.00       20 / linear       \$8,050.0         Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(5): 175       \$40.00       20 / linear       \$800.0         Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(5): 25       \$100.00       1325 / supplier Notes: Percentage of price attributed to labor portion of service(5): 25       \$100.00       1325 / supplier Notes: Percentage of price attributed to labor portion of service(5): 25       \$100.00       \$1325 / supplier Notes: Percentage of price attributed to labor portion of service(5): 25       \$100.00       <	BLD2123798B1-	10ft High Double Swing Gate - First Offer	\$450.00		\$90,900.0
Agency Notes:         Supplier Notes:         Supplier Notes:         Percentary Supplier Notes:	Agency Notes:         Supplier Notes:         Supplier Notes:         Per centributed to labor portion of service(s). 200           BLD2123798B1         10ft x 4ft High Personnel Gate - First Offer Groduct Code:         \$1.80.00         42 / each         \$75.600.0           BLD2123798B1         Single 10ft High Single Swing Gate (15ft to 20)-First 01-49         \$42.50.00         \$49.7 linear         \$20,825.00           BLD2123798B1         Single 10ft High Single Swing Gate (15ft to 20)-First 01-49         \$42.50.00         \$49.7 linear         \$20,825.00           Product Code:         Supplier Product Code:         Supplier Notes: Per centributed to labor portion of service(s):: 175         \$25.7 linear         \$48,75.00           BLD2123798B1         10ft High K-Brace Gate (20ft to 32ft) - First Offer 10-50         \$100         \$25.7 linear         \$48,75.00           Product Code:         Supplier Product Code:         Supplier Product Code:         \$48,75.00           Supplier Product Code:         Supplier Product Code:         \$49.7 linear         \$48,75.00           Product Code:         Supplier Product Code:         \$500         \$20.7 linear         \$48,75.00           Supplier Product Code:         Supplier Product Code:         \$500         \$20.7 linear         \$48,75.00           Product Code:         Supplier Product Code:         \$500         \$10.50.70			Supplier Product Code:		
service(s): 200     Supplier Product Code: (senor) Notes:     Supplier Product Code: (supplier Notes: Percentized of labor portion of service(s): 800       BLD2123798B1- 01-49     Single 10ft High Single Swing Gate (15ft to 20ft) - First 01-49     \$425.00 (49 / linear service(s): 800     49 / linear (soft)     \$20,825.00 (soft)       BLD2123798B1- 01-49     Single 10ft High Single Swing Gate (20ft to 32ft) - First Offer service(s): 175     \$27 / linear (soft)     \$27 / linear (soft)     \$28,875.00 (soft)       BLD2123798B1- 01-50     10ft High K-Brace Gate (20ft to 32ft) - First Offer service(s): 175     \$350.00 (soft)     \$27 / linear (soft)     \$8,750.00 (soft)       BLD2123798B1- 01-50     10ft High K-Brace Gate (20ft to 32ft) - First Offer service(s): 175     \$27 / linear (soft)     \$8,00.0 (soft)       BLD2123798B1- 01-50     10ft High Fence First Offer service(s): 175     \$27 / linear (soft)     \$27 / linear (soft)     \$800.0 (soft)       BLD2123798B1- 01-52     Relocation of Existing 10ft High Fence - First Offer service(s): 175     \$400.00 (soft)     \$27 / linear (soft)     \$1325.7 (soft)     \$1325.00 (soft)	service(s):: 200       BLD2123798B1- 01-43     10ft x 4ft High Personnel Gate - First Offer (gency Notes:     \$1,800.00     42 / each     \$75,600.0       Product Code: (gency Notes:     Single 10ft High Single Swing Gate (15ft to 20ft) - First 01-49     \$425,00     49 / linear (sot     \$20,825.0       BLD2123798B1- 01-49     Single 10ft High Single Swing Gate (15ft to 20ft) - First 01-49     \$425,00     49 / linear (sot     \$20,825.0       BLD2123798B1- 01-50     Single 10ft High K-Brace Gate (20ft to 32ft) - First Offer 10-50     \$21,000     25 / linear (sot     \$8,750.0       BLD2123798B1- 01-51     10ft High K-Brace Gate (20ft to 32ft) - First Offer supplier Notes: Percentage of price attributed to labor portion of service(s):: 175     25 / linear (sot     \$800.0       BLD2123798B1- 01-51     Relocation of Existing 10ft High Fence - First Offer 10-52     \$400.00     20 / linear (sot     \$800.0       Product Code: (sgency Notes:     Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 25     \$1325.7     \$132,500.0       BLD2123798B1- 01-52     10ft High Fencing Non-Paved Areas - First Offer 10-52     \$100.00     1325.7     \$132,500.0       Product Code: (sgency Notes:     Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): .45     \$132,500.0     \$132,500.0       Product Code: (sgency Notes:     Supplier Notes: Percentage of price attributed to labor portion of servic				age of price attribu	ited to labor portion o
BLD2123798B1-       10ft x 4ft High Personnel Gate - First Offer       \$1,800.00       42 / each       \$75,600.0         O1-48       Supplier Notes: Percentage of price attributed to labor portion of service(\$). 800       service(\$). 800       \$20,825.0         BLD2123798B1-       Single 10ft High Single Swing Gate (15ft to 20ft) - First Offer       \$42,500       49 / linear froot       \$20,825.0         Ord-40       Offer       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion of service(\$). 175         BLD2123798B1-       10ft High K-Brace Gate (20ft to 32ft) - First Offer       \$350.00       25 / linear froot       \$8,750.0         Ord-01-50       10ft High K-Brace Gate (20ft to 32ft) - First Offer       \$140.00       20 / linear froot       \$8,750.0         Ord-151       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion of service(\$). 175       \$80.00       20 / linear froot       \$80.00         O1-51       Relocation of Existing 10ft High Fence - First Offer       \$40.00       20 / linear froot       \$132,500.0       132 / jinear foot       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0       <	BLD2123798B1-       10ft x 4ft High Personnel Gate - First Offer       \$1,800.00       42 / each       \$75,600.0         Ordust Code:       Supplier Notes: Percentage of price attributed to labor portion of service(5). 800       49 / linear       \$20,825.0         BLD2123798B1       Single 10ft High Single Swing Gate (15ft to 20ft) - First Offer       \$425.00       49 / linear       \$20,825.0         Product Code:       Supplier Product Code:       Supplier Product Code:       \$425.00       49 / linear       \$20,825.0         Macro Votes:       Supplier Product Code:       Supplier Product Code:       \$425.00       25 / linear       \$8,750.0         Macro Votes:       Supplier Product Code:       Supplier Product Code:       \$400.00       20 / linear       \$8,750.0         Macro Votes:       Supplier Product Code:       Supplier Product Code:       \$100.00       120 / linear       \$8,750.0         Macro Votes:       Supplier Product Code:       Supplier Product Code:       \$100.00       120 / linear       \$800.0         Notation of Existing 10ft High Fence - First Offer       \$40.00       20 / linear       \$100.00       \$132,500.0         Notation of Existing 10ft High Fence First Offer       \$100.00       \$132.5       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0       \$132,500.0 <t< td=""><td>Agency Notes.</td><td></td><td></td><td>age of price attribu</td><td></td></t<>	Agency Notes.			age of price attribu	
01-48 Supplier Notes: Percentage of price attributed to labor portion of service(s): 800 service(s): 100 service(s): 100 service(s): 100 service(s): 100 serv	01-48 01-48 01-48 01-48 01-49 01-51 010ft High Single Swing Gate (15ft to 20ft) - First 0ffer 01-49 01-50 0	DI D2122700D1	10th Aft Lijele Demonstra al Casta - First Offen		42 ( h	#75 COO 0
Agency Notes:     Supplier Notes: Percent set of price attributed to labor portion of service(s): 800       BLD2123798B1     Single 10ft High Single Swing Gate (15ft to 20ft) First Offer of s425.0.0     49 / linear of s20.825.0       Product Code: segment Notes:     Supplier Product Code: Supplier Notes: Percent set of price attributed to labor portion of service(s): 175       BLD2123798B1     10ft High K-Brace Gate (20ft to 32ft) - First Offer of s150.00     25 / linear of s8.750.00       Product Code: segment Notes:     Supplier Product Code: Supplier Notes: Percent set of price attributed to labor portion of service(s): 175       BLD2123798B1     Relocation of Existing 10ft High Fence - First Offer of s100.00     20 / linear of price attributed to labor portion of service(s): 25       BLD2123798B1     10ft High Fencing Non-Paved Areas - First Offer of s100.00     1325 / linear of price attributed to labor portion of service(s): 25       BLD2123798B1     10ft High Fencing Non-Paved Areas - First Offer of s100.00     1325 / linear foot       Yroduct Code: segment Notes:     Supplier Product Code: Supplier Notes: Percent set of price attributed to labor portion of service(s): 25       BLD2123798B1     10ft High Fencing Non-Paved Areas - First Offer of s100.00     1325 / linear foot       Yroduct Code: segment Notes:     Supplier Product Code: Supplier Notes: Percent set of price attributed to labor portion of service(s): 25       BLD2123798B1     10ft High Fencing Ornmental Steel - First Offer of s100.00     30 / linear foot       Yroduct Code: segment Notes:	Agency Notes:     Supplier Notes: Percent Jet at the data portion of service(s): 800       BLD2123798B1     Single 10ft High Single Swing Gate (15ft to 20ft) - First Offer of s425.0.0     49 / linear of s20.825.0       Product Code: Agency Notes:     Supplier Porduct Code: Supplier Notes: Percent Jet of Jaco portion of service(s): 175       BLD2123798B1     10ft High K-Brace Gate (20ft to 32ft) - First Offer of s150.00     25 / linear of s8.750.00       Product Code: Agency Notes:     Supplier Product Code: Supplier Notes: Percent Jet of Jaco portion of service(s): 175       Product Code: Agency Notes:     Supplier Notes: Percent Jet of Jaco portion of Service(s): 175       Product Code: Agency Notes:     Supplier Notes: Percent Jet of Jaco portion of Service(s): 175       BLD2123798B1     Relocation of Existing 10ft High Fence - First Offer of s100.00     20 / linear foot       Notes:     Supplier Notes: Percent Jet of Jaco portion of Service(s): 25       BLD2123798B1     10ft High Fencing Non-Paved Areas - First Offer of s100.00     1325 / linear foot       Notes:     Supplier Product Code: Supplier Notes: Percent Jet of Jaco portion of Service(s): 25       BLD2123798B1     10ft High Fencing Non-Paved Areas - First Offer of s100.00     1325 / square foot       Notes:     Supplier Product Code: Supplier Notes: Percent Jet of Jaco portion of Service(s): 25       BLD2123798B1     10ft High Fencing Ornmental Steel - First Offer of s100.00     30 / linear foot       Notes:     Supplier Product Code: Supplier N	-01-48	TUTT X 4TT High Personnel Gate - First Offer	\$1,800.00	427 each	\$75,600.0
service(s): 800         BLD 2123798B1       Single 10ft High Single Swing Gate (15ft to 20ft) - First Offer Orduct Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 175       Supplier Product Code: Supplier Prod	service(s): 800         BLD2123798B1- 0/49       Single 10ft High Single Swing Gate (15ft to 20ft) - First Qency Notes:       4425:00 foot       49 / linear foot       \$20,825.01 foot         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       \$350.00       25 / linear foot       \$8,750.01         Product Code: Agency Notes:       Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       \$8,750.01         BLD2123798B1- 01-51       Relocation of Existing 10ft High Fence - First Offer 01-51       \$40.00       20 / linear foot       \$800.01         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 2175       \$132,500.01       \$21,213798B1- foot       \$132,500.01         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 245       \$132,500.01       \$132,500.01         BLD2123798B1- 01-53       10ft High Fencing Non-Paved Areas - First Offer 10-53       \$100.00       \$132,500.01       \$132,500.01         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 245       \$0366 / square foot       \$251,830.01         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes:	Product Code:			<b>.</b> .	
BLD2123798B1- 01-49       Single 10ft High Single Swing Gate (15ft to 20ft) - First Offer       \$425.00       49 / linear foot       \$20,825.0         Product Code: kgency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       \$350.00       25 / linear foot       \$8,750.0         Product Code: kgency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       \$40.00       20 / linear foot       \$8,750.0         BLD2123798B1- 01-50       Relocation of Existing 10ft High Fence - First Offer       \$40.00       20 / linear foot       \$800.0         D1-52       Supplier Product Code: kgency Notes:       Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 25       \$132,500.0       1325 / linear foot       \$132,500.0         D1-52       10ft High Fencing Non-Paved Areas - First Offer       \$100.00       1325 / square foot       \$132,500.0         D1-53       10ft High Fencing Non-Paved Areas - First Offer       \$5.00       \$0366 / square foot       \$251,830.0         D1-52       Vinyl Coating of Fence Fabric Black - First Offer       \$5.00       \$0366 / square foot       \$251,830.0         D1-53       Univid Code: kgency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s): 150       \$10,11 High Fencing	BLD2123798B1- 01-49       Single 10ft High Single Swing Gate (15ft to 20ft) - First Offer       \$425.00       49 / linear foot       \$20,825.0         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       \$350.00       25 / linear foot       \$8,750.0         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       \$40.00       20 / linear foot       \$8,750.0         BLD2123798B1- 01-50       Relocation of Existing 10ft High Fence - First Offer       \$40.00       20 / linear foot       \$800.0         Orf-22       Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 25       \$132.5/0.0       \$132.5/0.0       \$132.5/0.0         D1-52       10ft High Fencing Non-Paved Areas - First Offer       \$100.00       1325 / inear foot       \$132.5/0.0         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 245       \$00.00       \$132.5/0.0       \$132.5/0.0         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer       \$5.00       \$0366 / square foot       \$251,830.0         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer       \$400.00       30 / linear foot       \$12	Agency Notes:			age of price attribu	ited to labor portion o
01-49 Offer froduct Code: kgency Notes: Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175 BLD2123798B1- D10ft High K-Brace Gate (20ft to 32ft) - First Offer \$350.00 D1-50 Product Code: kgency Notes: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175 BLD2123798B1- Relocation of Existing 10ft High Fence - First Offer \$40.00 D1-51 Product Code: kgency Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 25 BLD2123798B1- D10ft High Fencing Non-Paved Areas - First Offer \$100.00 D1-52 Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 25 BLD2123798B1- D10ft High Fencing Non-Paved Areas - First Offer \$100.00 D1-52 Product Code: Supplier Product Code: Supplier P	01-49 Offer foot Product Code: Agency Notes: BLD2123798B1- D10ft High K-Brace Gate (20ft to 32ft) - First Offer Product Code: Agency Notes: BLD2123798B1- D10ft High K-Brace Gate (20ft to 32ft) - First Offer Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175 BLD2123798B1- Relocation of Existing 10ft High Fence - First Offer Supplier Product Code: Agency Notes: BLD2123798B1- Relocation of Existing 10ft High Fence - First Offer Product Code: Agency Notes: BLD2123798B1- D10ft High Fencing Non-Paved Areas - First Offer Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 25 BLD2123798B1- D10ft High Fencing Non-Paved Areas - First Offer Supplier Notes: Percentage of price attributed to labor portion of service(s): 25 BLD2123798B1- D10ft High Fencing Non-Paved Areas - First Offer Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 25 BLD2123798B1- Vinyl Coating of Fence Fabric Black - First Offer Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 2 BLD2123798B1- Offer Offer Stop Supplier Product Code: Supplier Product Cod					
Agency Notes:       Supplier Notes: Percentation of service(s): 175         BLD2123798B1- 01-50       10ft High K-Brace Gate (20ft to 32ft) - First Offer 01-50       \$350.00       25 / linear foot       \$8,750.01         Product Code: Igency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       20 / linear foot       \$800.01         BLD2123798B1- 01-51       Relocation of Existing 10ft High Pence - First Offer Notes:       \$upplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 25       \$100.00       1325 / linear foot       \$132,500.01         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer Notes:       \$100.00       1325 / supplier Notes: Percentage of price attributed to labor portion of service(s): 45       \$132,500.01         BLD2123798B1- 01-53       10ft High Fencing Non-Paved Areas - First Offer Notes:       \$100.00       1325 / square foot       \$132,500.01         Supplier Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 45       \$0366 / square foot       \$251,830.01         Notal Code: Supplier Notes:       Supplier Notes: Percentage of price attributed to labor portion of service(s): 2       \$0162       \$251,830.01         Notal Code: Supplier Notes:       \$0366 / square foot       \$30.1 linear foot       \$12,000.01         Notal High Fencing Ornmental Steel - First Of	Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion or service(s): 175         BLD2123798B1- 01-50       10ft High K-Brace Gate (20ft to 32ft) - First Offer 01-50       \$350.00       25 / linear foot       \$8,750.01         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 175       20 / linear foot       \$800.01         BLD2123798B1- 01-51       Relocation of Existing 10ft High Fence - First Offer reduct Code: Agency Notes:       Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 25         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer reduct Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 25       \$132,5/0.01         BLD2123798B1- 01-53       10ft High Fencing Non-Paved Areas - First Offer reduct Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 45       \$0366 / square foot       \$132,5/0.01         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer 01-54       \$100.00 service(s): 25       \$0366 / square foot       \$251,830.01         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 2       \$01       \$12,000.01 foot       \$12,000.01 foot         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o	BLD2123798B1- -01-49		\$425.00		\$20,825.00
Service(s): 175         BLD2123798B1- 01-50       10ft High K-Brace Gate (20ft to 32ft) - First Offer foot       \$350.00 foot       25 / linear foot       \$8,750.0 foot         Oroduct Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       \$40.00 foot       20 / linear foot       \$800.0 foot         O1-51       Relocation of Existing 10ft High Fence - First Offer (service(s): 175       \$40.00 foot       20 / linear foot       \$800.0 foot         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s): 25       \$100.00 linear foot       \$132,500.0 linear foot       \$132,500.0 service(s): 45         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer veduct Code: Supplier Notes: Percentage of price attributed to labor portion o service(s): 45       \$132,500.0 linear foot       \$132,500.0 square foot         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer 01-54       \$100.00 service(s): 2       \$306 f / square foot       \$251,830.0 square foot         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00 service(s): 150       30 / linear foot       \$12,000.0 foot         BLD2123798B1- 01-54       4in Gate Post up to 10ft High Fence - First Offer 1550       \$4400.00 service(s): 150       37 / each       \$16,650.0 service(s): 150 <t< td=""><td>Service(s): 175         BLD2123798B1- 01-50       10ft High K-Brace Gate (20ft to 32ft) - First Offer product Code: Agency Notes:       \$25 / linear foot       \$25 / linear foot       \$8,750.0 foot         Ordouct Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       \$400.0       20 / linear foot       \$800.0         O1-51       Relocation of Existing 10ft High Fence - First Offer Supplier Notes: Percentage of price attributed to labor portion of service(s): 25       \$100.00       1325 / linear foot       \$102,00.0         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer service(s): 25       \$100.00       1325 / linear foot       \$132,500.0         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer service(s): 45       \$upplier Notes: Percentage of price attributed to labor portion of service(s): 45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer service(s): 45       \$upplier Notes: Percentage of price attributed to labor portion of service(s): 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer service(s): 2       \$upplier Notes: Percentage of price attributed to labor portion of service(s): 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer service(s): 150       \$upplier Notes: Percentage of price attributed to labor portion of service(s): 150         BLD2123798B1- 01-54       4in Gate Post up to 10f</td><td>Product Code:</td><td></td><td>Supplier Product Code:</td><td></td><td></td></t<>	Service(s): 175         BLD2123798B1- 01-50       10ft High K-Brace Gate (20ft to 32ft) - First Offer product Code: Agency Notes:       \$25 / linear foot       \$25 / linear foot       \$8,750.0 foot         Ordouct Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175       \$400.0       20 / linear foot       \$800.0         O1-51       Relocation of Existing 10ft High Fence - First Offer Supplier Notes: Percentage of price attributed to labor portion of service(s): 25       \$100.00       1325 / linear foot       \$102,00.0         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer service(s): 25       \$100.00       1325 / linear foot       \$132,500.0         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer service(s): 45       \$upplier Notes: Percentage of price attributed to labor portion of service(s): 45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer service(s): 45       \$upplier Notes: Percentage of price attributed to labor portion of service(s): 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer service(s): 2       \$upplier Notes: Percentage of price attributed to labor portion of service(s): 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer service(s): 150       \$upplier Notes: Percentage of price attributed to labor portion of service(s): 150         BLD2123798B1- 01-54       4in Gate Post up to 10f	Product Code:		Supplier Product Code:		
BLD2123798B1- 01-50       10ft High K-Brace Gate (20ft to 32ft) - First Offer       \$350.00       25 / linear foot       \$8,750.01         Orroduct Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s): 175       Supplier Notes: Percentage of price attributed to labor portion o service(s): 175         BLD2123798B1- Oroduct Code: Agency Notes:       Relocation of Existing 10ft High Fence - First Offer       \$40.00 foot       20 / linear foot       \$800.00 foot         D1-51       Supplier Notes: Percentage of price attributed to labor portion o service(s): 25       \$1325 / linear foot       \$132,5 / linear foot         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s): 25         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer       \$100.00       1325 / linear foot       \$132,50.00         O1-52       Toroduct Code: Supplier Notes: Percentage of price attributed to labor portion o service(s): 45       \$251,830.01 square foot       \$251,830.01 square foot         Product Code: Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion o service(s): 2       \$400.00       \$30 / linear foot       \$251,830.01 square foot         Product Code: Agency Notes:       Supplier Note: Percentage of price attributed to labor portion o service(s)	BLD2123798B1- 01-50       10ft High K-Brace Gate (20ft to 32ft) - First Offer       \$350.00       25 / linear foot       \$8,750.01         Or-50       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s): 175       \$40.00       20 / linear foot       \$800.01         Product Code: Agency Notes:       Relocation of Existing 10ft High Fence - First Offer       \$40.00       20 / linear foot       \$800.01         Product Code: Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion o service(s): 25       \$1325 / linear foot       \$1325 / linear foot         Product Code: Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion o service(s): 25       \$1325 / linear foot       \$132,50.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s): 45       \$132,50.00       \$1325 / linear foot         Product Code: Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion o service(s): 45       \$50.00       \$0366 / square foot       \$251,83.00         Product Code: Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion o service(s): 2       \$400.00       \$0 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion o service(s): 2	Agency Notes:		Supplier Notes: Percent	age of price attribu	ited to labor portion o
01-50       foot         orduct Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 175         BLD2123798B1- Orduct Code: Agency Notes:       Relocation of Existing 10ft High Fence - First Offer Orduct Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 25       Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 25         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer 01-52       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer 01-54       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 25         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 20         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s): 150       30 / linear foot       \$12,000.0 (Sot         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-54       \$450.00       37 / each       \$16,650.0 (Sot         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offe	01-50       foot         Product Code: Agency Notes:       Supplier Notes: Percents:       of product Code: Supplier Notes: Percents:       of product Code: Supplier Notes: Percents:       Supplier Notes: Percents:       of product Code: Supplier Notes: Percents:       Supplier Notes: Percents:       of product Code: Supplier Notes: Percents:         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer 01-52       \$100.00       1325 / linear       \$1325 / linear       \$			service(s).: 175		
Agency Notes:Supplier Notes: Percentage of price attributed to labor portion of service(s): 175BLD2123798B1- Oroduct Code: Agency Notes:Relocation of Existing 10ft High Fence - First Offer Supplier Notes: Percentage of price attributed to labor portion of service(s): 2520 / linear foot\$800.01 footBLD2123798B1- Oroduct Code: Agency Notes:10ft High Fencing Non-Paved Areas - First Offer service(s): 25\$132.5 / linear foot\$132.5 / linear foot\$132.5 / service(s): 25BLD2123798B1- Oroduct Code: Agency Notes:10ft High Fencing Non-Paved Areas - First Offer service(s): 45\$132.5 / linear foot\$132.5 / linear footBLD2123798B1- Oroduct Code: Agency Notes:10ft High Fencing Orn-Paved Areas - First Offer service(s): 45\$0366 / square foot\$132.5 / supplier Notes: Percentage of price attributed to labor portion of service(s): 45BLD2123798B1- Oroduct Code: Agency Notes:Vinyl Coating of Fence Fabric Black - First Offer supplier Notes: Percentage of price attributed to labor portion of service(s): 2\$0366 / square foot\$251,830.01 square footBLD2123798B1- Oroduct Code: Agency Notes:10ft High Fencing Ornmental Steel - First Offer supplier Notes: Percentage of price attributed to labor portion of service(s): 2\$30 / linear struce attributed to labor portion of service(s): 2BLD2123798B1- Oroduct Code: Agency Notes:10ft High Fencing Ornmental Steel - First Offer supplier Notes: Percentage of price attributed to labor portion of service(s): 150\$37 / each\$12,000.01 footBLD2123798B1- Oroduct Code: Agency Notes:4 in Gate Pos	Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion of service(s):: 175         BLD2123798B1-       Relocation of Existing 10ft High Fence - First Offer       \$40.00       20 / linear foot       \$800.01         Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion of service(s):: 25         BLD2123798B1-       10ft High Fencing Non-Paved Areas - First Offer       \$100.00       1325 / linear foot       \$132,500.01         Ordouct Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion of service(s):: 25         BLD2123798B1-       10ft High Fencing Non-Paved Areas - First Offer       \$100.00       1325 / linear foot       \$132,500.01         Ordouct Code:       Supplier Notes: Percentage of price attributed to labor portion of service(s):: 45       \$50366 / square foot       \$251,830.01         BLD2123798B1-       Vinyl Coating of Fence Fabric Black - First Offer       \$50366 / square foot       \$251,830.01         Ordouct Code:       Supplier Notes: Percentage of price attributed to labor portion of service(s):: 2       \$12,000.01       \$13 2,000.01         Rency Notes:       10ft High Fencing Ornmental Steel - First Offer       \$400.00       \$30 / linear foot       \$12,000.01         Ordouct Code:       Supplier Notes: Percentage of price attributed to labor portion of service(s):: 150       \$12,200.01 <td>BLD2123798B1- -01-50</td> <td>10ft High K-Brace Gate (20ft to 32ft) - First Offer</td> <td>\$350.00</td> <td></td> <td>\$8,750.0</td>	BLD2123798B1- -01-50	10ft High K-Brace Gate (20ft to 32ft) - First Offer	\$350.00		\$8,750.0
Agency Notes:Supplier Notes: Percentage of price attributed to labor portion of service(s): 175BLD2123798B1- Oroduct Code: Agency Notes:Relocation of Existing 10ft High Fence - First Offer Supplier Notes: Percentage of price attributed to labor portion of service(s): 2520 / linear foot\$800.01 footBLD2123798B1- Oroduct Code: Agency Notes:10ft High Fencing Non-Paved Areas - First Offer service(s): 25\$132.5 / linear foot\$132.5 / linear foot\$132.5 / service(s): 25BLD2123798B1- Oroduct Code: Agency Notes:10ft High Fencing Non-Paved Areas - First Offer service(s): 45\$132.5 / linear foot\$132.5 / linear footBLD2123798B1- Oroduct Code: Agency Notes:10ft High Fencing Orn-Paved Areas - First Offer service(s): 45\$0366 / square foot\$132.5 / supplier Notes: Percentage of price attributed to labor portion of service(s): 45BLD2123798B1- Oroduct Code: Agency Notes:Vinyl Coating of Fence Fabric Black - First Offer supplier Notes: Percentage of price attributed to labor portion of service(s): 2\$0366 / square foot\$251,830.01 square footBLD2123798B1- Oroduct Code: Agency Notes:10ft High Fencing Ornmental Steel - First Offer supplier Notes: Percentage of price attributed to labor portion of service(s): 2\$30 / linear struce attributed to labor portion of service(s): 2BLD2123798B1- Oroduct Code: Agency Notes:10ft High Fencing Ornmental Steel - First Offer supplier Notes: Percentage of price attributed to labor portion of service(s): 150\$37 / each\$12,000.01 footBLD2123798B1- Oroduct Code: Agency Notes:4 in Gate Pos	Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion of service(s):: 175         BLD2123798B1-       Relocation of Existing 10ft High Fence - First Offer       \$40.00       20 / linear foot       \$800.01         Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion of service(s):: 25         BLD2123798B1-       10ft High Fencing Non-Paved Areas - First Offer       \$100.00       1325 / linear foot       \$132,500.01         Ordouct Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion of service(s):: 25         BLD2123798B1-       10ft High Fencing Non-Paved Areas - First Offer       \$100.00       1325 / linear foot       \$132,500.01         Ordouct Code:       Supplier Notes: Percentage of price attributed to labor portion of service(s):: 45       \$50366 / square foot       \$251,830.01         BLD2123798B1-       Vinyl Coating of Fence Fabric Black - First Offer       \$50366 / square foot       \$251,830.01         Ordouct Code:       Supplier Notes: Percentage of price attributed to labor portion of service(s):: 2       \$12,000.01       \$13 2,000.01         Rency Notes:       10ft High Fencing Ornmental Steel - First Offer       \$400.00       \$30 / linear foot       \$12,000.01         Ordouct Code:       Supplier Notes: Percentage of price attributed to labor portion of service(s):: 150       \$12,200.01 <td>Product Code</td> <td></td> <td>Supplier Product Code</td> <td>ı I</td> <td></td>	Product Code		Supplier Product Code	ı I	
service(s):: 175         BLD212379B1- 01-51       Relocation of Existing 10ft High Fence - First Offer (soft)       \$40.00       20 / linear (soft)       \$800.01         Product Code: gency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 25       1325 / linear foot       \$1325 / linear foot       \$1325 / linear foot         Product Code: gency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 45       \$3066 / square foot       \$1325 / linear foot         BLD2123798B1- 001-53       Vinyl Coating of Fence Fabric Black - First Offer Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 45       \$3066 / square foot       \$251,830.01         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 150       \$30 / linear foot       \$12,000.01 foot         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 150       \$17 / each       \$16,650.01         Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 175       \$17 / each       \$16,650.01 <td>BLD2123798B1- 01-51       Relocation of Existing 10ft High Fence - First Offer of 1.51       \$40.00       20 / linear foot       \$800.01         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 25       1325 / linear foot       \$1325 / linear foot       \$1325 / linear foot         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 25       \$3066 / square foot       \$1325 / linear foot         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer Product Code: Agency Notes:       \$3056 / square foot       \$251,830.01         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer Product Code: Agency Notes:       \$3066 / square foot       \$251,830.01         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 2       \$30 / linear foot       \$12,000.01         BLD2123798B1- 01-55       10ft High Fencing Ornmental Steel - First Offer Supplier Notes: Percentage of price attributed to labor portion of service(s).: 150       \$37 / each       \$12,000.01         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer Supplier Notes: Percentage of price attributed to labor portion of service(s).: 150       \$37 / each       \$16,650.01         Product Code: Agency Not</td> <td></td> <td></td> <td></td> <td>age of price attribu</td> <td>ited to labor portion o</td>	BLD2123798B1- 01-51       Relocation of Existing 10ft High Fence - First Offer of 1.51       \$40.00       20 / linear foot       \$800.01         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 25       1325 / linear foot       \$1325 / linear foot       \$1325 / linear foot         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 25       \$3066 / square foot       \$1325 / linear foot         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer Product Code: Agency Notes:       \$3056 / square foot       \$251,830.01         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer Product Code: Agency Notes:       \$3066 / square foot       \$251,830.01         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 2       \$30 / linear foot       \$12,000.01         BLD2123798B1- 01-55       10ft High Fencing Ornmental Steel - First Offer Supplier Notes: Percentage of price attributed to labor portion of service(s).: 150       \$37 / each       \$12,000.01         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer Supplier Notes: Percentage of price attributed to labor portion of service(s).: 150       \$37 / each       \$16,650.01         Product Code: Agency Not				age of price attribu	ited to labor portion o
BLD2123798B1-       Relocation of Existing 10ft High Fence - First Offer       \$40.00       20 / linear foot       \$800.01         O1-51       Supplier Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion o service(s):: 25         BLD2123798B1-       10ft High Fencing Non-Paved Areas - First Offer       \$100.00       1325 / linear foot       \$132,500.01         Product Code:       Supplier Notes: Percentage of price attributed to labor portion o service(s):: 25       \$100.00       1325 / linear foot       \$132,500.01         Product Code:       Supplier Notes: Percentage of price attributed to labor portion o service(s):: 45       \$100.00       \$50366 / square foot       \$251,830.01         Product Code:       Supplier Notes: Percentage of price attributed to labor portion o service(s):: 2       \$100.00       \$00 / linear foot       \$251,830.01         Product Code:       Supplier Notes: Percentage of price attributed to labor portion o service(s):: 2       \$100.00       \$30 / linear foot       \$251,830.01         Product Code:       Supplier Notes: Percentage of price attributed to labor portion o service(s):: 2       \$100.00       \$30 / linear foot       \$12,000.01         01-54       10ft High Fencing Ornmental Steel - First Offer       \$400.00       \$30 / linear foot       \$12,000.01         Product Code:       Supplier Notes: Percentage of price attributed to labor port	BLD2123798B1-       Relocation of Existing 10ft High Fence - First Offer       \$40.00       20 / linear foot       \$800.01         O1-51       Supplier Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion o service(s): 25         BLD2123798B1-       10ft High Fencing Non-Paved Areas - First Offer       \$100.00       1325 / linear foot       \$132,500.01         O1-52       Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion o service(s): 25         Product Code:       Supplier Notes: Percentage of price attributed to labor portion o service(s): 45       Supplier Notes: Percentage of price attributed to labor portion o service(s): 45         BLD2123798B1-       Vinyl Coating of Fence Fabric Black - First Offer       \$50.00       \$0366 / square foot       \$251,830.01         O1-54       Supplier Notes: Percentage of price attributed to labor portion o service(s): 2       \$100.00       \$30 / linear foot       \$251,830.01         O1-54       Supplier Notes: Percentage of price attributed to labor portion o service(s): 2       \$100.00       \$30 / linear foot       \$12,000.01         O1-54       Supplier Notes: Percentage of price attributed to labor portion o service(s): 12       \$12,000.01       \$10,100.01       \$12,000.01         O1-54       Supplier Notes: Percentage of price attributed to labor portion o service(s): 150       \$12,000.	J y 0000			J	
Supplier Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 25         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer Agency Notes:       \$100.00       1325 / linear foot       \$132,500.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 45       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 45         Product Code: Agency Notes:       Vinyl Coating of Fence Fabric Black - First Offer 01-53       \$5000       \$0366 / square foot       \$251,830.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 2       \$100.00       \$30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 150       \$12,000.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$upplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 150       \$17 each       \$16,650.00	Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 25         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer Agency Notes:       \$100.00       1325 / linear foot       \$132,500.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 45       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 45         Product Code: Agency Notes:       Vinyl Coating of Fence Fabric Black - First Offer 01-53       \$50.00       \$0366 / square foot       \$251,830.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 2       \$100.00       \$30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 150       \$12,000.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$upplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 150       \$17 each       \$16,650.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$upplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 175       \$17 each       \$16,650.00	BLD2123798B1- -01-51	Relocation of Existing 10ft High Fence - First Offer			\$800.00
Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion or service(s): 25         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer       \$100.00       1325 / inear foot       \$132,00.00         Product Code:       Supplier Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s): 45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer       \$500       \$0366 / square foot       \$251,830.00         Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s): 45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer       \$5000       \$0366 / square foot       \$251,830.00         Product Code:       Supplier Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s): 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer       \$400.00       30 / linear foot       \$12,000.00         Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s): 150         BLD2123798B1- 01-55       10ft High Fence - First Offer       \$450.00       37 / each       \$16,650.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer	Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion or service(s): 25         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer       \$100.00       1325 / inear foot       \$132,00.00         Product Code:       Supplier Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s): 45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer       \$500       \$0366 / square foot       \$251,830.00         Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s): 45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer       \$5000       \$0366 / square foot       \$251,830.00         Product Code:       Supplier Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s): 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer       \$400.00       30 / linear foot       \$12,000.00         Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s): 150         BLD2123798B1- 01-55       10ft High Fencing Ornmental Steel - First Offer       \$450.00       37 / each       \$16,650.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence	Product Code:		Supplier Product Code	1	
service(s): 25         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer 01-52       \$100.00       1325 / linear foot       \$132,500.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer 01-53       \$50366 / square foot       \$251,830.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 2       \$30 / linear foot       \$12,000.00         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$upplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 2       \$30 / linear foot       \$12,000.00         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$upplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 150       \$37 / each       \$12,000.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 150       \$16,650.00	service(s): 25         BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer 01-52       \$100.00       1325 / linear foot       \$132,500.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer 01-53       \$50366 / square foot       \$251,830.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 2       \$30 / linear foot       \$12,000.00         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00       30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 150       \$12,000.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s):: 150       \$16,650.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed				age of price attribu	ited to labor portion o
BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer       \$100.00       1325 / linear foot       \$132,500.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s):: 45       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s):: 45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer       \$5.00       \$0366 / square foot       \$251,830.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s):: 2       \$30 / linear foot       \$12,000.00         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer       \$400.00       30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s):: 150       \$30 / linear foot       \$12,000.00         BLD2123798B1- 01-54       10ft High Fence - First Offer       \$400.00       37 / each       \$12,000.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer       \$450.00       37 / each       \$16,650.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer       \$450.00       37 / each       \$16,650.00	BLD2123798B1- 01-52       10ft High Fencing Non-Paved Areas - First Offer 01-52       \$100.00       1325 / linear foot       \$132,500.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s):: 45       \$50366 / square foot       \$251,830.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s):: 45       \$0366 / square foot       \$251,830.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s):: 2       \$000       \$00 / linear foot       \$12,000.00         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00       \$00 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s):: 150       \$12,000.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       \$7 / each       \$16,650.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       \$7 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s):: 175       \$7 / each       \$16,650.00					
Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion on service(s):: 45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer 01-53       \$50366 / square foot       \$251,830.00 square foot         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion on service(s):: 2       Supplier Notes: Percentage of price attributed to labor portion on service(s):: 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00       30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion on service(s):: 150       \$37 / each       \$16,650.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion on service(s):: 150       \$16,650.00	Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion on service(s):: 45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer 01-53       \$50366 / square foot       \$251,830.00 square foot         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion on service(s):: 2       \$0 / linear foot       \$12,000.00 foot         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00 Supplier Notes: Percentage of price attributed to labor portion on service(s):: 150       \$30 / linear foot       \$12,000.00 foot         BLD2123798B1- 01-55       10ft High Fencing Ornmental Steel - First Offer 01-55       \$400.00 Supplier Notes: Percentage of price attributed to labor portion on service(s):: 150       \$37 / each       \$16,650.00 Supplier Notes: Percentage of price attributed to labor portion on service(s):: 150         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00 Supplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion on service(s):: 175       \$37 / each       \$16,650.00 Supplier Notes: Percentage of price attributed to labor portion on service(s):: 175	BLD2123798B1- -01-52	10ft High Fencing Non-Paved Areas - First Offer			\$132,500.00
Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion or service(s): 45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer       \$5.00       \$0366 / square foot       \$251,830.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 2       \$07 / incear foot       \$212,000.00         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer       \$400.00       \$30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 12         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer       \$400.00       \$30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 150         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer       \$450.00       \$37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 175       \$17 / each       \$16,650.00	Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion or service(s): 45         BLD2123798B1-01-53       Vinyl Coating of Fence Fabric Black - First Offer 01-53       \$5036 / square foot       \$251,830.01         Product Code:       Supplier Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s): 2         BLD2123798B1-010ft High Fencing Ornmental Steel - First Offer 01-54       Supplier Product Code:       \$30 / linear foot       \$12,000.01 foot         Product Code:       Supplier Product Code:       Supplier Product Code:       \$30 / linear foot       \$12,000.01 foot         BLD2123798B1-010ft High Fencing Ornmental Steel - First Offer 01-54       Supplier Product Code:       \$30 / linear foot       \$12,000.01 foot         Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s):: 150         BLD2123798B1-010ft High Fence - First Offer 01-55       Supplier Notes: Percentage of price attributed to labor portion or service(s):: 150         BLD2123798B1-010ft High Fence - First Offer 01-55       Supplier Product Code:       \$450.00       \$37 / each       \$16,650.00         Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s):: 175       \$16,650.00       \$17 / each       \$16,650.00			Supplier Product Code:		
service(s)::45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer Agency Notes:       \$5,00       \$0366 / square foot       \$251,830.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s):: 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00       30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s):: 150       \$37 / linear foot       \$12,000.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$upplier Product Code: Supplier Product Code: Supplier Product Code: Agency Notes:       \$16,650.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 1-55       \$upplier Product Code: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s):: 175	service(s): 45         BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer 01-53       \$5.00 square foot       50366 / square foot       \$251,830.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00 supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s): 12         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00 supplier Notes: Percentage of price attributed to labor portion or service(s): 150         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00 supplier Product Code: Supplier Product Code: Agency Notes:       37 / each       \$16,650.00 service(s): 175				age of price attribu	ited to labor portion o
BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer       \$5.00       \$0366 / square foot       \$251,830.00         Oroduct Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s).: 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer       \$400.00       30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s).: 12         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer       \$400.00       30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s).: 150         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer       \$450.00       37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s).: 175	BLD2123798B1- 01-53       Vinyl Coating of Fence Fabric Black - First Offer 01-53       \$50366 / square foot       \$251,830.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s).: 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00       30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s).: 150       \$12,000.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s).: 150       37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s).: 175       \$175					
Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s).: 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00       30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s).: 150       \$16,650.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s).: 150       37 / each       \$16,650.00	Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s).: 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00       30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s).: 150       30 / linear foot       \$12,000.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each       \$16,650.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s).: 150       37 / each       \$16,650.00	BLD2123798B1-	Vinyl Coating of Fence Fabric Black - First Offer			\$251,830.00
Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion or service(s).: 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00       30 / linear foot       \$12,000.00         Product Code:       Supplier Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s).: 150         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each       \$16,650.00         Product Code:       Supplier Product Code:       Supplier Product Code:       Supplier Product Code:       \$16,650.00         Product Code:       Supplier Product Code:       Supplier Product Code:       \$16,650.00         Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s):: 175	Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion or service(s).: 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00       30 / linear foot       \$12,000.00         Product Code:       Supplier Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s).: 150         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each       \$16,650.00         Product Code:       Supplier Product Code:       Supplier Product Code:       Supplier Product Code:       \$16,650.00         Agency Notes:       Supplier Product Code:       Supplier Product Code:       \$16,650.00         Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s):: 175			Cumpling Durate of Col		
service(s).: 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00       30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s).: 150       \$16,650.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s).: 175	service(s).: 2         BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00       30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s).: 150         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s).: 175				ago of price attail	ited to labor nortice a
BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00       30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 150       \$450.00       37 / each       \$16,650.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 175	BLD2123798B1- 01-54       10ft High Fencing Ornmental Steel - First Offer 01-54       \$400.00       30 / linear foot       \$12,000.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 150       \$450.00       37 / each       \$16,650.00         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$upplier Product Code: Supplier Product Code:       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 175	Agency Notes:			age of price attribu	ited to labor portion o
01-54footProduct Code: Agency Notes:Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s).: 150BLD2123798B1- 01-554in Gate Post up to 10ft High Fence - First Offer 01-55\$450.0037 / each\$16,650.00Product Code: Agency Notes:Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s).: 17537 / each\$16,650.00	01-54       foot         Product Code:       Supplier Product Code:         Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion o service(s).: 150         BLD2123798B1-       4in Gate Post up to 10ft High Fence - First Offer 01-55         Product Code:       \$450.00         Agency Notes:       Supplier Product Code:         Supplier Notes:       \$450.00         37 / each       \$16,650.00         Product Code:       Supplier Product Code:         Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion o service(s).: 175				20 (1)	
Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion of service(s).: 150         BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each \$16,650.00         Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s).: 175	Agency Notes:       Supplier Notes: Percentage of price attributed to labor portion of service(s).: 150         BLD2123798B1-01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each \$16,650.00         Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion of service(s).: 175	BLD2123798B1- -01-54	10ft High Fencing Ornmental Steel - First Offer	\$400.00		\$12,000.00
BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 175	BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer 01-55       \$450.00       37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion or service(s).: 175	Product Code:				
BLD2123798B1- 01-55       4in Gate Post up to 10ft High Fence - First Offer       \$450.00       37 / each       \$16,650.00         Product Code: Agency Notes:       Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 175	BLD2123798B1-       4in Gate Post up to 10ft High Fence - First Offer       \$450.00       37 / each       \$16,650.00         O1-55       Product Code:       Supplier Product Code:       Supplier Notes: Percentage of price attributed to labor portion or service(s).: 175	Agency Notes:			age of price attribu	ited to labor portion o
01-55 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 175	01-55 Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 175			service(s).: 150		
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s).: 175	Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Percentage of price attributed to labor portion o service(s).: 175	BLD2123798B1- -01-55	4in Gate Post up to 10ft High Fence - First Offer	\$450.00	37 / each	\$16,650.0
Agency Notes: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 175	Agency Notes: Supplier Notes: Percentage of price attributed to labor portion of service(s).: 175			Supplier Product Code:		
service(s).: 175	service(s).: 175				age of price attribu	ited to labor portion o
		Series Notes.			age of price attribu	
שבטבו באישטא ו- מאפיר בא שוח Gate Post up to Turt High Fence - First Offer \$1,000.00   31 / each \$31,000.00	שבטבובסראש ו- ס-אוח Gate Post up to Tot High Fence - Hirst Offer \$1,000.00   31 / each \$31,000.00			· · · · · · · · · · · · · · · · · · ·		
			6 E/Rin Cata Doct up to 10ft Llich Fance First Offer	¢1 000 00	21 / cach	¢ 31 000 0

ing - New, Repair a	and County Com	missioners		Page 13 o
-01-56				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 250	age of price att	ributed to labor portion
BLD2123798B1- -01-57	6-5/8in K Brace Gate Post up to 21ft High - First Offer	\$1,500.00	16 / each	\$24,000.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 500	age of price att	ributed to labor portion (
BLD2123798B1- -01-58	8-5/8in Gate Post up to 10ft High Fence - First Offer	\$2,200.00	9 / each	\$19,800.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 700	age of price att	ributed to labor portion (
BLD2123798B1- -01-59	8-5/8in K Brace Gate Post up to 21ft High - First Offer	\$3,800.00	7 / each	\$26,600.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 1200	age of price att	ributed to labor portion
BLD2123798B1- -01-60	6ft High Cantilever Gate - First Offer	\$275.00	95 / linear foot	\$26,125.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 125	age of price att	ributed to labor portion
BLD2123798B1- -01-61	6ft x 4ft High Personnel Gate - First Offer	\$1,800.00	23 / each	\$41,400.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 800	age of price att	ributed to labor portion
BLD2123798B1- -01-62	6ft High Sliding Gate - First Offer	\$190.00	39 / linear foot	\$7,410.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 90	age of price att	ributed to labor portion
BLD2123798B1- -01-63	Liftmaster SL-585 1HP Slide Gate Operators - First Offer	\$4,750.00	9 / each	\$42,750.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 1000	age of price att	ributed to labor portion (
BLD2123798B1- -01-64	Liftmaster plug-in Loop Detectors - First Offer	\$263.00	23 / each	\$6,049.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 100	age of price att	ributed to labor portion (
BLD2123798B1- -01-65	Viking H-10 1HP Slide Gate Operators - First Offer	\$4,080.00	16 / each	\$65,280.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 1000	age of price att	ributed to labor portion (
BLD2123798B1- -01-66	Ditek DTK-120 Surge Protectors - First Offer	\$220.00	21 / each	\$4,620.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 150	age of price att	ributed to labor portion
BLD2123798B1- -01-67	Saw Cut Loop Installations - First Offer		28 / each	\$18,200.0

ing - New, Repair	and County Com	missioners		Page 14 of 2
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 400	age of price at	ttributed to labor portion of
BLD2123798B1- -01-68	Operator Pads - Supply and Install - First Offer	\$1,350.00	18 / each	\$24,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 750	age of price at	ttributed to labor portion of
BLD2123798B1- -01-69	Operator Pads - Removal of existing pads - First Offer	\$600.00	7 / each	\$4,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 400	age of price at	ttributed to labor portion of
BLD2123798B1- -01-70	6ft Centurion Aluminum 3 Rail - First Offer	\$120.00	220 / linear foot	\$26,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 50	age of price at	ttributed to labor portion of
BLD2123798B1- -01-71	6ft Centurion Steel Rail - First Offer	\$150.00	2237 / linear foot	\$335,550.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 70	age of price at	ttributed to labor portion of
BLD2123798B1- -01-72	Wood Fencing 4 in x 6 in x 6 ft Post No. 2 Southern Pine - First Offer	\$100.00	5000 / each	\$500,000.00
Product Code:		Supplier Product Code: Supplier Notes: Percent service(s).: 50	age of price at	ttributed to labor portion of
Agency Notes:		.,		
Agency Notes: BLD2123798B1- -01-73	Wood Fencing 2 in x 6 in Rails - First Offer	\$80.00	5000 / each	\$400,000.00
BLD2123798B1-	Wood Fencing 2 in x 6 in Rails - First Offer	\$80.00 Supplier Product Code:	each	\$400,000.00

GD Services			\$5	5,980,981.00 (73/73 items)
	rges Hadad o@gdservices.us 786-389-0953	Address <b>8300 NW 53rd St, Suite 350</b> <b>Miami, FL 33166</b>		
Agency Notes:		Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
BLD2123798B1- -01-01	10ft High Fencing (Pave Area) - First Offer	\$60.00	2599 / linear foot	\$155,940.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 50	age of price a	ttributed to labor portion of
BLD2123798B1- -01-02	End Post with Single Brace for 10ft High Fence - First Offer		69 / each	\$8,970.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20	age of price a	ttributed to labor portion of
BLD2123798B1- -01-03	- Corner Post with Double Brace for 10ft High Fence First Offer	\$135.00	37 / each	\$4,995.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent	age of price a	ttributed to labor portion of

Page 15 of 2		missioners		ng - New, Repair
		service(s).: 20		
\$458,400.00	9168 / linear foot	\$50.00	8ft High Fence - First Offer	BLD2123798B1- -01-04
ributed to labor portion of	age of price at	Supplier Product Code: Supplier Notes: Percent service(s).: 20		Product Code: Agency Notes:
\$7,200.00	60 / each		End Post with Single Brace for 8ft High Fence - First Offer	BLD2123798B1- -01-05
ributed to labor portion of	age of price at	Supplier Product Code: Supplier Notes: Percent service(s).: 20		Product Code: Agency Notes:
\$7,200.00	60 / each		Corner Post with Double Brace for 8ft High Fence - First Offer	BLD2123798B1- -01-06
ributed to labor portion of	age of price at	Supplier Product Code: Supplier Notes: Percent service(s).: 10		Product Code: Agency Notes:
\$360,360.00	8008 / linear foot	\$45.00	6ft High Fencing - First Offer	BLD2123798B1- -01-07
ributed to labor portion of	age of price at	Supplier Product Code: Supplier Notes: Percent service(s).: 20		Product Code: Agency Notes:
\$8,075.00	85 / each		End post with Single Brace for 6ft High Fence - First Offer	BLD2123798B1- -01-08
ributed to labor portion of	age of price at	Supplier Product Code: Supplier Notes: Percent service(s).: 10		Product Code: Agency Notes:
\$5,100.00	51 / each		Corner post with Double Brace for 6ft High Fence - First Offer	BLD2123798B1- -01-09
ributed to labor portion of	age of price at	Supplier Product Code: Supplier Notes: Percent service(s).: 10		Product Code: Agency Notes:
\$513,000.00	171 / linear foot	\$3,000.00	8ft High Cantiliver Sliding Gate - First Offer	BLD2123798B1- -01-10
ributed to labor portion of	age of price at	Supplier Product Code: Supplier Notes: Percent service(s).: 10		Product Code: Agency Notes:
\$375,000.00	125 / linear foot	\$3,000.00	8ft High Double Swing Gate - First Offer	BLD2123798B1- -01-11
ributed to labor portion of	age of price at	Supplier Product Code: Supplier Notes: Percent service(s).: 10		Product Code: Agency Notes:
\$1,195,000.00	478 / linear foot	\$2,500.00	6ft High Double Swing Gate - First Offer	BLD2123798B1- -01-12
ributed to labor portion of	age of price at	Supplier Product Code: Supplier Notes: Percent service(s).: 10		Product Code: Agency Notes:
\$28,000.00	14 / each	\$2,000.00	4ft Wide x 8ft High Personnel Gate - First Offer	BLD2123798B1- -01-13
ributed to labor portion of	age of price at	Supplier Product Code: Supplier Notes: Percent service(s).: 10		Product Code: Agency Notes:
\$96,600.00	4830 / square foot	\$20.00	Vinyl Coating of Fence Fabric Dark Green - First Offer	BLD2123798B1- -01-14
ributed to labor portion of	age of price at	Supplier Product Code: Supplier Notes: Percent		Product Code: Agency Notes:

	and Broward Cour County Com			Exhib Page 16 of
BLD2123798B1- -01-15	Vinyl Coating of Fence Fabric Navy Blue - First Offer	\$20.00	1100 / square foot	\$22,000.0
Product Code: Agency Notes:	, 	Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price at	tributed to labor portion o
BLD2123798B1- -01-16	Relocation of Existing 8ft High Fence - First Offer	\$65.00	88 / linear foot	\$5,720.0
Product Code: Agency Notes:	1	Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price at	tributed to labor portion o
BLD2123798B1- -01-17	Removal and Disposal of Existing Fence - First Offer	\$15.00	14253 / linear foot	\$213,795.0
Product Code: Agency Notes:	I	Supplier Product Code: Supplier Notes: Percent service(s).: 10	<u>                                     </u>	tributed to labor portion o
BLD2123798B1- -01-18	Removal and Disposal of 4ft Pedestrian Gate - First Offer		17 / each	\$2,550.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price at	tributed to labor portion o
BLD2123798B1- -01-19	Removal and Disposal of 14ft Swing Gate - First Offer	\$400.00	49 / each	\$19,600.0
Product Code: Agency Notes:	, 	Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price at	tributed to labor portion o
BLD2123798B1- -01-20	Removal and Disposal of 28ft Slide Gate - First Offer	\$500.00	18 / each	\$9,000.0
Product Code: Agency Notes:	·	Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price at	tributed to labor portion o
BLD2123798B1- -01-21	Labor Crew for Miscellaneous Field Fencing and Gate Repair - First Offer	\$100.00	4951 / hour	\$495,100.0
Product Code: Agency Notes:	· · · · · · · · · · · · · · · · · · ·	Supplier Product Code: Supplier Notes: Percent service(s).: 60	age of price at	tributed to labor portion o
BLD2123798B1- -01-22	Miscellaneous Welding Repairs including Consumables - First Offer	\$120.00	105 / hour	\$12,600.0
Product Code: Agency Notes:	I	Supplier Product Code: Supplier Notes: Percent service(s).: 60	age of price at	tributed to labor portion o
BLD2123798B1- -01-23	Relocating 4ft Pedestrian Gate (including New Gate Posts) - First Offer	\$800.00	3 / each	\$2,400.0
Product Code:		Supplier Product Code: Supplier Notes: Percent service(s).: 50	age of price at	tributed to labor portion o
Agency Notes:		\$40.00	810 / linear foot	\$32,400.0
Agency Notes: BLD2123798B1- -01-24	4ft High Fencing - First Offer			
	4π High Fencing - Hirst Offer	Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price at	tributed to labor portion o
BLD2123798B1- -01-24 Product Code:	4ft High Fencing - Hirst Offer End post for 4ft High Fencing - First Offer	Supplier Notes: Percent service(s).: 10	age of price at	<b>tributed to labor portion o</b> \$2,700.0
BLD2123798B1- -01-24 Product Code: Agency Notes: BLD2123798B1-		Supplier Notes: Percent service(s).: 10 \$90.00 Supplier Product Code:	30 / each	

BLD2123798B1 - ing - New, Repair -01-26	and Broward Cour County Com			Exhi Page 17 c
Product Code: Agency Notes:	I	Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price a	ttributed to labor portion
BLD2123798B1- -01-27	4ft x 4ft Pedestrian Gate - First Offer	\$600.00	25 / each	\$15,000.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price a	ttributed to labor portion
BLD2123798B1- -01-28	4ft Cantilever Sliding Gate - First Offer	\$650.00	60 / linear foot	\$39,000.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price a	ttributed to labor portion
BLD2123798B1- -01-29	4ft Double Swing Gate - First Offer	\$1,000.00	60 / linear foot	\$60,000.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price a	ttributed to labor portion (
BLD2123798B1- -01-30	4ft x 7ft Panic Gate - First Offer	\$1,800.00	7 / each	\$12,600.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price a	ttributed to labor portion (
BLD2123798B1- -01-31	Relocating 14ft Swing Gate (including New Gate Posts) - First Offer	\$1,500.00	2 / each	\$3,000.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 60	age of price a	ttributed to labor portion
BLD2123798B1- -01-32	Relocating 28ft Slide Gate (including New Gate Posts) - First Offer	\$2,500.00	3 / each	\$7,500.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 60	age of price a	ttributed to labor portion (
BLD2123798B1- -01-33	PVC tubular Dark Green Slats - First Offer	\$20.00	386 / square foot	\$7,720.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price a	ttributed to labor portion (
BLD2123798B1- -01-34	Single 8ft High Swing Gate (15ft to 20ft) - First Offer	\$300.00	25 / linear foot	\$7,500.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10 \$/ft	age of price a	ttributed to labor portion o
BLD2123798B1- -01-35	Single 8ft High Swing Gate (20ft to 32ft) - First Offer	\$300.00	72 / linear foot	\$21,600.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10 \$/ft	age of price a	ttributed to labor portion
BLD2123798B1-	Top Rail Replacement - First Offer	\$30.00	70 / linear	\$2,100.

BLD2123798B1 - ing - New, Repair a		nty Board of		Exhi
Product Code:		1		Page 18 c
Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 50	age of price at	ttributed to labor portion
BLD2123798B1- -01-37	Sea Fan - A, 8ft High - First Offer		22 / each	\$44,000.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price at	ttributed to labor portion
BLD2123798B1- -01-38	Sea Fan - B, 8ft High - First Offer		3 / each	\$6,000
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price at	ttributed to labor portion
BLD2123798B1- -01-39	Replacement Barbed Wire and Barbed Wire Arms - First Offer	\$15.00	3292 / linear foot	\$49,380.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price at	ttributed to labor portion
BLD2123798B1- -01-40	Replacement Line Posts 8ft High - First Offer	\$100.00	7 / each	\$700
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price at	ttributed to labor portion
BLD2123798B1- -01-41	Bollards (5ft-0in Above Existing Grade) - First Offer	\$800.00	30 / each	\$24,000
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes: Percent service(s).: 10	age of price at	ttributed to labor portion
BLD2123798B1- -01-42	Removal of Existing Bollards (0 ft-1in to 10ft-0 in) - First Offer	\$1,000.00	8 / each	\$8,000.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 50	age of price at	ttributed to labor portion
BLD2123798B1- -01-43	Center Rail Replacement - First Offer		1653 / linear foot	\$24,795.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 30	age of price at	ttributed to labor portion
BLD2123798B1- -01-44	Bottom Rail Replacement - First Offer	\$15.00	2187 / linear foot	\$32,805.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 30	age of price at	ttributed to labor portion
BLD2123798B1- -01-45	Line Posts 10ft High - First Offer		42 / each	\$6,300.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price at	ttributed to labor portion
BLD2123798B1- -01-46	10ft High Cantiliver Sliding Gate - First Offer		207 / linear foot	\$51,750.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price at	ttributed to labor portion
		\$/L-ft of gate		

BLD2123798B1- -01-47	10ft High Double Swing Gate - First Offer	\$250.00	202 / linear foot	\$50,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10 \$/L-Ft of gate	age of price a	ttributed to labor portion of
BLD2123798B1- -01-48	10ft x 4ft High Personnel Gate - First Offer	\$800.00	42 / each	\$33,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price a	ttributed to labor portion of
BLD2123798B1- -01-49	Single 10ft High Single Swing Gate (15ft to 20ft) - First Offer		49 / linear foot	\$12,740.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10 \$/Ft of gate	age of price a	ttributed to labor portion of
BLD2123798B1- -01-50	10ft High K-Brace Gate (20ft to 32ft) - First Offer	\$175.00	25 / linear foot	\$4,375.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10 price/ft	age of price a	ttributed to labor portion of
BLD2123798B1- -01-51	Relocation of Existing 10ft High Fence - First Offer	\$80.00	20 / linear foot	\$1,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 30	age of price a	ttributed to labor portion of
BLD2123798B1- -01-52	10ft High Fencing Non-Paved Areas - First Offer	\$65.00	1325 / linear foot	\$86,125.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price a	ttributed to labor portion of
BLD2123798B1- -01-53	Vinyl Coating of Fence Fabric Black - First Offer	\$1.00	50366 / square foot	\$50,366.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 40	age of price a	ttributed to labor portion of
BLD2123798B1- -01-54	10ft High Fencing Ornmental Steel - First Offer	\$200.00	30 / linear foot	\$6,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price a	ttributed to labor portion of
BLD2123798B1- -01-55	4in Gate Post up to 10ft High Fence - First Offer	\$145.00	37 / each	\$5,365.00

Page 20 of 2		missioners	and County Com	ing - New, Repair
-		Supplier Product Code:		Product Code:
e attributed to labor portion of	age of price a	Supplier Notes: Percent service(s).: 10		Agency Notes:
\$9,300.00	31 / each	\$300.00	6-5/8in Gate Post up to 10ft High Fence - First Offer	BLD2123798B1- -01-56
		Supplier Product Code:		Product Code:
attributed to labor portion of	age of price a	Supplier Notes: Percent service(s).: 10		Agency Notes:
\$9,600.00	16 / each	\$600.00	6-5/8in K Brace Gate Post up to 21ft High - First Offer	BLD2123798B1- -01-57
attributed to labor portion of	age of price a	Supplier Product Code: Supplier Notes: Percent service(s).: 10		Product Code: Agency Notes:
\$7,200.00	9 / each		8-5/8in Gate Post up to 10ft High Fence - First Offer	BLD2123798B1- -01-58
attributed to labor portion of	age of price a	Supplier Product Code: Supplier Notes: Percent service(s).: 10		Product Code: Agency Notes:
\$7,000.00	7 / each	\$1,000.00	8-5/8in K Brace Gate Post up to 21ft High - First Offer	BLD2123798B1- -01-59
attributed to labor portion of	age of price a	Supplier Product Code: Supplier Notes: Percent service(s).: 10		Product Code: Agency Notes:
\$17,100.00	95 / linear foot	\$180.00	6ft High Cantilever Gate - First Offer	BLD2123798B1- -01-60
attributed to labor portion of	age of price a	Supplier Product Code: Supplier Notes: Percent service(s).: 10		Product Code: Agency Notes:
\$23,000.00	23 / each	\$1,000.00	6ft x 4ft High Personnel Gate - First Offer	BLD2123798B1- -01-61
attributed to labor portion of	age of price a	Supplier Product Code: Supplier Notes: Percent service(s).: 20		Product Code: Agency Notes:
\$8,580.00	39 / linear foot	\$220.00	6ft High Sliding Gate - First Offer	BLD2123798B1- -01-62
attributed to labor portion of	age of price a	Supplier Product Code: Supplier Notes: Percent		Product Code: Agency Notes:
		service(s).: 10		
\$49,500.00	9 / each	\$5,500.00	Liftmaster SL-585 1HP Slide Gate Operators - First Offer	BLD2123798B1- -01-63
attributed to labor portion of	age of price a	Supplier Product Code: Supplier Notes: Percent service(s).: 20		Product Code: Agency Notes:
\$11,500.00	23 / each	\$500.00	Liftmaster plug-in Loop Detectors - First Offer	BLD2123798B1- -01-64
attributed to labor portion of	age of price a	Supplier Product Code: Supplier Notes: Percent service(s).: 20		Product Code: Agency Notes:
\$88,000.00	16 / each	\$5,500.00	Viking H-10 1HP Slide Gate Operators - First Offer	BLD2123798B1- -01-65
attributed to labor portion of	age of price a	Supplier Product Code: Supplier Notes: Percent service(s).: 20		Product Code: Agency Notes:
\$6,300.00	21 / each	\$300.00	Ditek DTK-120 Surge Protectors - First Offer	BLD2123798B1- -01-66
		Supplier Product Code:		Product Code:

BLD2123798B1 - sing - New, Repair :	and Broward Court County Com	5		Exhibit Page 21 of 2
Agency Notes:		Supplier Notes: Percent service(s).: 20	age of price a	ttributed to labor portion of
BLD2123798B1- -01-67	Saw Cut Loop Installations - First Offer	\$1,000.00	28 / each	\$28,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price a	ttributed to labor portion of
BLD2123798B1- -01-68	Operator Pads - Supply and Install - First Offer	\$600.00	18 / each	\$10,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price a	ttributed to labor portion of
BLD2123798B1- -01-69	Operator Pads - Removal of existing pads - First Offer	\$600.00	7 / each	\$4,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price a	ttributed to labor portion of
BLD2123798B1- -01-70	6ft Centurion Aluminum 3 Rail - First Offer	\$200.00	220 / linear foot	\$44,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 20	age of price a	ttributed to labor portion of
BLD2123798B1- -01-71	6ft Centurion Steel Rail - First Offer	\$150.00	2237 / linear foot	\$335,550.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price a	ttributed to labor portion of
BLD2123798B1- -01-72	Wood Fencing 4 in x 6 in x 6 ft Post No. 2 Southern Pine - First Offer		5000 / each	\$450,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 5	age of price a	ttributed to labor portion of
BLD2123798B1- -01-73	Wood Fencing 2 in x 6 in Rails - First Offer	\$30.00	5000 / each	\$150,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Percent service(s).: 10	age of price a	ttributed to labor portion of
Bid Allowance				\$85,000.00